TR 814 1A TRAROTEEY v

RFAIRFER TT,)
H HEER KEEH KEEH ARHEH & H THER
1] 2 3] 4 5
‘RBYOY
(11 B ~15 B52) | RB#HH RB B+ "B
CHHMTEL,
6 |7 =B\ iR e 10 FBThie 1] 12
(10K~11K) : (10R~12K)
= S i
BFH0> |\ EEEwOc EREYOY SRIET7 =
TRETHZ EREHOY
13 |14 15 HiEHR BiE# 17 19
(10K~11K)
=)
RO HH =REHO seAMEN7 <
TREY0 TR0
20 |21 22 HiELI iR 23 BB FETILI 25 %
(10K~111) (10R~1218)
st TRBHOY s@t0> RO TRBHOY
TREaYO
21 |28 30 B 31 EF B0 | BE~3H
&kt iR FEHDS - | B~2 5
(108~11K) DEEn7 - ¢ 1 BE~3
LT XEKODIBBESHE
= TR0 CTRaYO ARBNTS.




